HTAEZEANBBERER—ER

EI: TRS0OEQASHIRTE
X
SWVEFETEREZEETER
EH]' % BEALZEEREHY EH]' % RBEANZEEHREHY BEALZEFEREY EH]' % RBEANZEEHREHY
e % &t Ee % it 5 % it 5 % it
RFE N 0 0 0 | RFKH £ 604 650 1.254
AFFEANEF 0 0 0 [R=F{EE)II 2,981 3093] 6074
RXFEFFTHE 0 0 0 | K= HRFA 0 0 0
= HiTfT 1381) 1401] 2782 |FAAE1TH 597 653|  1.250
|I=#85TH 1431| 1,440 2871 |FAXKE2TH 116 122 238
I=#&6TH 3,757| 3718 7475 |FARKE3TH 676 670 1,346
KFIER 6997] 7,196] 14193 |[lEX=4TH 438 451 889
AR AR AR 1172] 1,264 2,436 | KFREEXR 0 0 0
RFEEKE 1,577| 1,654 3,231 | KF A=A 0 0 0
AFIEE 258 286 544
AFIEREBT 193 188 381
RFpE] 795 807 1,602
KEEXR 1,166 1,222 2388
RFFAF 516 552 1,068
RFREAR 2,253] 2,240 4493
AFFEHH 283 279 562
RFFEABRR 70 70 140
AT EEFARL 0 0 0
AFFEHEE 1835 1922| 3757
AFXRE 1,354 1,398 2.752
AXF_VE 886 941 1,827
AFEREHEFTH 455 469 924
KFER 12 16 28
AFHEHSARHFE 4 6 10
SBAR1TH 41 39 80
HAET2TH 47 40 87
EAE1TH 27 28 55
EAE2TH 50 55 105
ZEAEISTH 83 65 148
TS5 1,465 1,570 3,035
AXF SR 487 486 973
RF= &R 237 233 470
AFHERBAR 1,139] 1,150 2,289
RFhHk 912|  957| 1869
AFERH 436 438 874
I = 5 = 5
A A
36,731 37,769 74,500




ETALEZEAN L EEHRER—ER

;":I: TRS0OEQASHIRTE
X
SWVEFETEREZEERTER
BT % BEALZEFEREHY RBEANZEEHREHY BEALZEFEREY BT % RBEANZEEHREHY
2 | % i 3 | % il 5 | = it 5 | = it

XFXE 0 0 0
RFREL 0 0 0
AkET4TH 2,460 2487 4947
HARE1TH 1,833 13884 3717
HARE2TH 2283 2352 4635
XFEEE 0 0 0
B#EB1TH 4,720 4,006 8,726
BHiEET2TH 6,385| 6,778| 13,163
H#R3TH 2,335| 2342 4677
1E5I8T2 T B 2,085 2178 4263
AFEMES 0 0 0
=ERE1TH 4125 4349 8.474
=EFRE2TH 2662] 2526 5188
'=ERET3TH 2,800 2816 5616
ERE4TH 2,642| 2587 5.229
SHHE1TH 2,836] 2,618 5,454
SHHE2TH 1,733] 1,696 3,429
Al Ffr T 2473 2519 4,992
= RHE 3857] 3843]  7.700
HEMET1T B 2,268] 2,199 4467
HEHET2T B 514 738 1,252
|2 BT 1497] 1695 3192
XFLE 0 0 0
+ SET 209 222 431
TEET1TH 2,359] 2444 4,803
T EE2TH 2,201 2,235 4,436
4 FIHT 1,599| 1,671 3.270
AFFEARL 0 0 0
| A< SR T 4476 4,663 9,139
WE1TH 0 0 0
REB1TH 0 0 0

B2TH 0 0 0

B3TH 0 0 0

S 5 S it
=H A 60,352 60,848 121,200
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— EM30FE9A3HEE
RERX
SV ETAEREREEEZER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN BEALBEZEREHR EH]' % BEALBEEREHN
] & &t ] % &t ] & &t L] % &t

KE6TH 176 179 355 | FEHT1TH 141 142 283
KE7TH 199 212 411 |FHI2TH 113 99 212
GRET1TH 1,270] 1,339 2,609 | FHET3TH 994| 1,098 2,092
JEE2TH 1,264 1,259 2,523 |RRET1TH 610 631 1.241
EHEET1TH 475 483 958 |HHET2TH 649 654 1,303
EHE2TH 515 508 1,023 |#ABT1 T H 528 576 1,104
EEEISTH 517 541 1,058 |##ABT2T B 624 575 1,199
HEET4ATH 497 563 1,060 |#%ABT3T B 533 572| 1,105
ZMEET1TH 456 485 941 |t ABTATH 2491 2448 4,939
ZMEET2TH 572 612 1,184 |$RHT 2 2 4
XBE1TH 1,894] 1,970 3864 | AFKET1TH 1,767) 1,744 3,511

BE2TH 2079] 2,113 4,192 | KEEET2 T H 1,199] 1,190 2,389
EORNBI1TH 1,911 2,002 3913 | AFKEI3TH 1,844| 1,857 3,701
EDQNET2TH 703 728 1,431 #5111 T H 2,694 2776 5,470
JEDQNETITH 907 920 1,827 |=#81TH 3,681 3895 1,576
FHEAT1TH 563 604 1,167 |=4#82TH 2501 2444 4.945
FEEET2TH 1,197| 1,385 2,582 |=4&3TH 739 698 1.437
S2m1TH 819 862 1,681 |=#84TH 2,240| 2,269 4,509
SEE2TH 559 584 1,143 | /AT 4,181 4,150 8,331
=S2m3TH 262 281 543 | KEMHEI1TH 0 0 0
=SE2B4TH 3 3 6 | AE{FHET2TH 0 0 0
TFHE1TH 964 883 1,847 | KRE{HEI3TH 0 0 0
TFH2TH 306 310 616
T FHSTH 610 569 1,179
=EE1TH 76 75 151
=EE2TH 161 158 319
=RI3TH 336 316 652
=EE4TH 438 345 783
=RISTH 315 206 521
AFET1TH 14 12 26
KPET2 T H 24 22 46
KPET3T H 553 578 1,131
HEI1TH 25 19 44
{HhET2TH 35 29 64
{HhEI3TH 203 170 373

o = ] £ 5
= A 48,429 49,145 97574




HTAEZEANBBERER—ER

. EM30FE9A3HEE
RAX
SV -FEFHRAREREEEZER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN EH]' % BEALBEZEREHR EH]' % BEALBEEREHN
] & &t ] % &t ] & &t L] % &t
RFIHBT1ITH 3,531 3,551 7,082 |MIEE1TH 2 3 5 |&[2TH 831 791 1,622
KIMERI2TH 3,182) 3344 6,526 |IIAE2TH 2 0 2 |HM3TH 1,128| 1,036 2,164
KFER 1 0 1 | KFAEILFHH 1 2 3
WEI2TH 1 0 1| KFRI 2 1 3
| Y I5 BT 3,420| 3,502 6922 | KFBRF 307 287 594
AFE 0 0 0 | XFXRA 3,728| 3,931 7,659
BT 2013] 2,095 4,108 | KFiE:8 4074| 4,198 8.272
EE1TH 190 196 386 | X FEEEF 1,726) 1,875 3,601
ER2TH 169 167 336 | KF B P98I0 1,682 1,637 3.319
BAE1TH 1,290| 1,243 2533 | KFEET 1,378 1,560 2,938
BHAE2TH 1219 1219 2438 |RETF1TH 77 90 167
RA=E3TH 1006) 1,210 2216 [RETF2TH 183 176 359
BHA=A4TH 2203] 2227| 4430 |®H=ETF3TH 54 52 106
HAESTH 1,297| 1,266 2,563 | KF3i2 1,257| 1,379 2,636
HAXE6TH 1,546 1,493 3,039 | KFiRE 305 292 597
BAE7TH 2,053| 1997 4,050 (FE1THE 582 560 1,142
RFHHl 808 800 1,608 |i#Z{E2TH 421 385 306
|FHTH 169 181 350 |E#ESTH 608 594 1,202
|F#I2TH 62 58 120 i#E4TH 0 0 0
a3 8 5 13 FE5TE 102 84 186
RFI 230 239 469 |EH1TH 1,486] 1,628 3,114
RFLEH 287 268 555 |&EE2TH 267 371 638
2R/1TH 105 104 209 [FE3TH 667 677 1344
2482TH 73 64 137 |EH4TH 592 598 1,190
2A3TH 295 324 619 | K=FH 4% 475 463 938
REHEFH 1,727| 1,887 3,614 |4 I5HET 1,108| 1,018 2.126
RFHEA 129 128 257 | RFELAE 61 72 133
KFf 2,744] 2,823 5567 |Er BB 1TH 45 55 100
AFEHEF 2,900] 3019 5919 |=~+B¥2TH 2 4 6
AFEHHN 3,786| 3,943 1729 |=E+ B3 TH 135 146 281
RFd)l| 3213] 3388 6,601 |E4RIB4TH 42 34 76
KELLOHMHA 298 330 628 | K=F/INEE 2,532| 2,623 5.155
AFEALFFHEA 21 18 39 |ENET1T H 0 0 0
AFEHAEIMHEA 40 29 69 |ENET2T H 11 40 51
RENMBEHFH 1 2 3 | EFE1TH 593 601 1,194
A = 5 L8 it

H H 66,483 68,383 134,866
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FR30%F9A3ARA

PREX

SWEFTHRREEEERER

B % BEAREEREY B 4 BEALEEREY B 4 BEAREEREY B 4 BEAZBEZREH
E ES E E S it E ES it B % £t
AFLES 0 0 0|/N\NEF4TH 236 266 502
LEE1TH 1,234] 1,395 2,629 |J\EFF5TH 753 814 1,567
+%E2TH 1,522| 1,625 3,147 | FIE1TH 716 678 1.394
+%E3TH 920 922 1,842 | FIE2TH 737 733 1.470
LEE4TH 323 366 689 | LIE3TH 606 565 1171
+%E5TH 778 756 1,534 | FIE4TH 404 394 798
Lt%&E6TH 1,006| 1,002 2,008 |MPA(E4A1 T B 28 30 58
+%E7TH 1,051 1,153 2,204 |MBE52TH 254 263 517
+%E8TH 592 682 1,274 |3 T B 98 111 209
+L%E0TH 444 474 918 |MER4T B 434 421 855
AXFTEE 1,385 1,583 2,968 |MBEA5T B 603 593 1196
T%&2TH 700 748 1,448 |AFR6 T B 65 65 130
T%&3TH 785 851 1,636 |AFE7 T B 235 216 451
T%&4TH 637 626 1,263 [ F1TH 569 593 1,162
T#%&5TH 521 566 1,087 [#E2TH 405 414 819
T%&6TH 806 808 1,614 |ABTFE1TH 566 528 1,094
T%&7TH 576 564 1,140 |ABTFE2 T B 390 436 896
#HEe1TH Al 78 149 | AETFEITH 748 768 1516
#Ha2TH 471 466 937 | ABTFEATH 558 528 1.086
$HA3TH 587 525 1,112 |ABIFESTH 508 549 1,057
HB4TH 1,198 1,253 2451 | KETFE6 T H 129 143 272
$HA5TH 473 410 883 |ABTE1TH 447 472 919
#He6TH 607 578 1,185 | AETE2TH 466 479 945
$®HA7TH 1,189 1,224 2413 [KEER3ITH 461 465 926
$HA8TH 428 421 849 | KETH4ATE 741 744 1,485
#HE9TH 131 88 219 |[AETHE5TH 683 707 1,390
AXF1TH 906 895 1,801 | AETE6TH 431 432 363
AF2TH 385 373 758 | AETE7TH 1,338 1,291 2,629
XE3TH 475 491 966 |FHE1TH 876 862 1,738
XF4TH 672 685 1,357 |3 E2TH 557 617 1.174
AF5TH 872 906 1,778 | EITH 630 656 1.286
AF6TH 589 588 1,177 | EBATH 1010| 1,076 2,086
NEFI1TH 48 51 99 |FTHES5TH 913 909 1.822
NEF2TH 391 409 800 | &R 24 30 54
ANEF3TH 817 797 1614
A = 5 = 5
=

A 41,209 42,207 83,416




HTAEZEANBBERER—ER

w TERL30F9ASHIRE
X
SWVEFETARREZEERER
BT % BEALZEFEREHY BT % RBEANZEEHREHY BT % BEALZEFEREY BT % RBEANZEEHREHY
2 oS 5t 5 % 5t ] oS 5t 5 % 5t
| RFEIR 0 0 0|FT&1TH 401 371 772 | KFHMEA 0 0
7EIE1 T H 321 305 626 [ET#H2TH 369 400 769 | KF HFNAEZ0 0 0
(FEIE2T B 929 867 1,796 |HTA3TH 658 578 1,236
FaEIT B 832 821 1,653 |AT84TH 367 309 676
FEIEAT B 1.278| 1317 2,595 | K¥FERLTE 0 0 0
YRS T B 460 464 924 |ELE1ITH 496 510[ 1,006
FEIE6 T H 890 808 1,698 |FTE2THE 1012 1,061 2,073
FEYE7 T B 1018) 1003| 2021 [KFdhE 0 0 0
[FEJES T B 647 643 1290 |[FE1TH 818 752| 1,570
7RO T B 626 615 1241 |[FE2TH 377 334 711
FEHE10T B 300 316 616 |ME3TH 164 153 317
AFHE 0 0 0|FE4TH 318 285 603
AFHE 0 0 0 | KFxH 0 0 0
HE1TH 659 674 1,333 |RFI1TH 568 504 1,072
HE2TH 580 568 1,148 |RF12TH 784 41 1,525
HESTH 915 8695 1,780 |XF13TH 700 686 1,386
HE4TH 963 928 1,891 |4 TH 493 453 946
HESTH 572 540 1,112 |RF5TH 547 528 1,075
HE6TH 1,339] 1,507 2,846 | X6 T H 935 463 998
HE7TH 77 98 175 | KFILARZR 0 0 0
HESTH 251 196 447 WWAR1THE 363 338 701
HESTH 234 177 411 [ILARE2TH 488 464 952
HE10TH 673 647 1,320 | KF EXAR 1,913 1,880 3.793
AFHE 0 0 0 | KFTFXRAR 1,994 1613] 3,607
#E1TH 473 462 935 | KFAARER 2532| 2,744| 5276
22T H 209 192 401 | K4 H 2,173| 2,061 4,234
\#BASTH 12 13 25 | KF B 3,040| 3,039 6,079
#F4TH 0 0 0 | KFHER 166 160 326
AFiEH 8 3 1 |KXFE 275 250 525
EIE1TH 279 268 547 | XFHEH 167 811 1,578
Ei52TH 1,262 1,234 2496 | KFIFEX 687 685 1,372
EH3TH 449 387 836 | K=FERFD 0 0 0
LEI54ATH 0 0 0 [#M1TH 338 346 684
&S5 T H 0 0 0 [#MH2TH 527 526 1,053
KFHTA 2 1 3 [##M3TH 166 153 319
o = 5 £ i
= = 40,294 39,117 79,411
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. EM30FE9A3HEE
SAMX
SV -FEAUHNREREEEZER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN EH]' % BEALBEZEREHR EH]' % BEALBEEREHN
2 & &t ] % &t ] & &t L] % &t
E=E1TH 635 650 1,285 |81 A3TH 644 712 1,356 |Hi#h2TH 495 514 1,009
EHE2TH 604 638 1,242 |81 B84TH 1,048 1,360 2408 |Bii#3TH 754 748 1,502
FBI3TH 487 496 983 | ERIF1TH 1,373] 1492) 2865 |AK1TH 1,549] 1.810| 3359
EE4TH 973 1,061 2034 | FRIBE2TH 931 1,038 1,969 |[AX2TH 1,162 1,249 2411
FBI5TH 556 570 1,126 | F RIG3TH 740 728 1,468 |[AX3TH 1,114]  1,150] 2264
=E6TH 753 766 1,519 | ERIFATH 675 675 1,350 |AX4TH 698 755 1,453
=E7TH 891 932 1,823 | ERIZSTH 521 558 1,079 |AAS5TH 902 956 1,858
=1 1,096 1,149 2245 | FRIB6TH 999 1,065 2,064 |StET1TH 1,071] 1,120 2,191
=#1TH 200 250 450 | ERIZ7TH 481 528 1,009 [STET2T B 1,386] 1,524 2,910
=2TH 301 364 665 | EARIZSTH 239 244 483 |THT3TH 755 812 1,567
=#3TH 527 539 1,066 |ARUE1T H 545 558 1,103 [ KE1TH 1,241 1,282 2,523
=4TH 667 729 1,396 |RiF2T H 697 687 1,384 | KE2TH 768 831 1,599
EX=X000 725 765 1,490 | KIE3TH 286 289 575 | X#E3TH 586 634 1,220
fHET1TH 564 669 1,233 | KIE4 T H 726 758 1,484 | KF =I5 4 7 11
{HhET2TH 656 726 1,382 | KIG5T B 880 950 1,830 |##BA1TH 486 506 992
{HhET3TH 676 725 1,401 |SER1TH 744 775 1519 |#B2TH 698 722 1,420
fhET4T B 715 789] 1504 |4BR2TH 490 474 964 |2 |LIfT 797 882| 1679
B { iy 1272] 1397| 2669 [$#R3TH 779 790] 1,569 |iEFN{HET1T B 0 0 0
E#®1TH 1071) 1.143] 2214 [$8R4TH 602 642) 1,244 EF{HRET2T B 0 0 0
w2 TH 917 999 1,916 |$BR5T H 495 540 1,035 HF{HET3 T B 0 0 0
HH3TH 1,386] 1,490 2876 [fBR6TH 888 895 1,783 [(HFI{HET4 T B 0 0 0
EHEATH 651 722 1,373 |fBR7TH 988 1,074 2,062
EHES5TH 729 816 1,545 |#~ 51T B 686 745 1,431
EHE6TH 502 501 1,003 |#E~ 2T B 807 840 1,647
ER7TH 553 607 1,160 |#~ 53T H 508 608 1.116
HHE8TH 436 496 932 | ¥~ IBATH 697 781 1,478
BEHEOTH 1,298| 1,336 2634 |#~IB5TH 801 850 1.651
®H#210TH 1,268 1,355 2623 |E9B1TH 715 723 1,438
JEf1TH 1,207 1,370 2577 |E9B2TH 92 100 192
JtiEf2TH 980 1,047 2027 | KE1TH 293 331 624
JtiEF3TH 1,017 1,155 2172 | KFE2TH 180 217 397
JtiEf4TH 155 173 328 | KIR3TH 10 9 19
JtiEf5TH 1,547| 1,630 31771 | KIFATH 12 0 12
#$yB/1TH 806 841 1,647 | KIE5TH 0 0 0
$ty82TH 1,091 1,102 2,193 |1 TH 982 1,040 2,022
A = 5 L8 it

H H 63,932 68,576 132,508




BT A& FE AN B ST AR —

B

TH30F9A3BKE
X
SWV-FETREREZEEZER
BT % BEAZEFEREEHR BT % BEAZEEREY BT % BEAZEFEREEHR BT % BEAZEEZREY
8 £ &t B ES &t 2 £ &t B ES &t
A58B1TH 1024] 1,068 2092 |RIFFATH 289] 291 580 |NASTH 1093| 1047| 2,140
A5182TH 857]  799| 1,656 |BIFA5 T A 533] 549| 1,082 |NA6TH 1127]  973] 2100
BEMI1TH 1.256] 1,228 2,484 |FIFT6 T B 738 690 1,428 |[NB7TH 675 670 1,345
FE2TH 1518] 1,524 3,042 [RIFR7TH 1,370] 1,402) 2772 |l&A1TH 651 643 1,294
BEM3TH 2,981 3088 6,069 |#BiF1TH 842 845 1,687 |[Tma2TH 581 545 1,126
EEfATH 95 88 183 |#RE2TH 715 690 1,405 |[TAA3TH 599 554 1,153
KFEAHE 3,714 3828 7,542 |#RE3TH 963 940 1,903 |EAAHRI1TH 445 511 956
AHZE2TH 798 877 1675 [{RF4TH 559 530 1,089 |FIARI2TH 828 836 1.664
KHZE4TH 761 799 1,560 |#R=5TH 1,390| 1,508] 23898 |#BA1TH 444 440 884
AHAZESTH 1220 1227 2447 |iBE1TH 3090 3,183 6273 |EE2TH 195 181 376
KFEXAO 6,787| 7,080| 13867 |;BE2TH 713 717 1,430
AFMIESF 1053 1,034| 2087 [;B%3TH 0 0 0
KELGHBE 935 981 1,916 [B81TH 235 213 448
BiE1TH 483 361 844 |B82TH 285 257 542
BiE2TH 470 433 903 [BEFR1TH 500 529 1,029
B3 TH 1,129] 1,210] 2,339 [EEF®2TH 448 447 895
BiE4TH 1,757 1,774] 3531 [BEFR3ITH 779 745 1,524
BIESTH 1,033] 1,052 2,085 |EEFRATH 1008 980 1,988
BiE6TH 1116] 1,074] 2,190 [BEFR5TH 1,057 989 2,046
$1TH 1192 1,151 2,343 |EEFR6TH 947 887 1,834
it2TH 973 941 1914 |BEFR7TH 967 936 1,903
+3TH 71 797 1,574 | KFiZ4% 0 0 0
it4TH 1,003 920] 1,923 |IAK1TH 754 13| 1467
it5TH 739 722 1,461 |#8AK2TH 527 499| 1,026
it6TH 277 290 567 |IARSTH 603 563| 1,166
t7TH 750 716 1,466 |8 A4TH 543 481 1,024
+8TH 1,044) 1,089 2133 [#iA1TH 667 630] 1297
|XE1TH 986 943 1,929 |#IAR2TH 735 698 1433
XE2TH 1,316 1,260 2,576 |BIASTH 667 652 1,319
X#E3TE 1657 1544| 3201 [#iA4TH 688 579| 1267
XE4ATH 1,164 1,145 2,309 |BIASTH 753 696 1,449
I XES5TH 1,166] 1,122 2,288 |[NB1TH 269 261 530
AIEF1TH 559 587 1,146 |N&2TH 405 385 790
AFF2T B 1052] 1,123 2,175 |NA3TH 775 678 1,453
AE3TH 1,131 1,163 2294 |RB4TH 829 777 1.606
& = 5 X &t
H = 77,054 76,378 153,432




HTAEZEANBBERER—ER

EM30FE9A3HEE
X
SV -FTRREXEERER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN BEALBEZEREHR EH]' % BEANRBEEREH
] & &t 2 % &t ] & &t ) % &t
AHZEITH 1,256| 1,283 2539 | KFRA 12 9 21
AHESTH 755 736 1,491 [ILIS1TH 567 433 1,000
AFAAO 79 90 169 | KFEE 0 0 0
FW1TH 1,403| 1,454 2,857 | KF#TE 0 0 0
FRIW2TH 1,477 1,529 3,006 | KFKRE 0 0 0
FEW3TH 686 788 1,474 |[EAXM1TH 103 124 227
FRIL4TH 1,529| 1,644 3,173 | KM2TH 652 655 1.307
RFhE 5874| 6,164| 12038 | AFISTH 624 556 1.180
RFXREAR 3360) 3441 6,801 |EI121TH 546 591 1,137
RFAEK 990| 1,045 2,035 |Ei122TH 642 634 1,276
AFFILOFHE 132 137 269 |[MAK1TH 444 471 921
AFERFH 0 0 0 |#AK2TH 468 487 955
RFE=ZF 6,516| 6,953| 13469 [#AK3TH 738 774 1,512
EHE1TH 428 485 913 |BEM1TH 492 542 1,034
EHET2TH 445 485 930 |Hi#EM2TH 2,148| 2,026 4174
EtHE1E3TH 262 303 565 |BHEIS T B 1,129 1,195 2.324
EHET4TH 785 774 1,559 |BiEM4ATH 868 848 1,716
KFEKIF 478 395 873 |BHISTH 688 749 1,437
AFEEpeEst 262 246 508 |BE6T B 607 608 1,215
AFhEH 223 190 413 |BEM7TH 1,107) 1,203 2,310
AF LEFH 344 264 608 |BHFSTH 572 635 1,207
AFE 1 43 46 89 |BHFIOTH 486 536 1,022
RFELIL 241 224 465 |EZE1TH 97 115 212
RFFIL 109 105 214 |EE2TH 30 26 56
KFKXF 3253] 3,288 6,541 |EESTH 289 261 550
RFdblR 38 44 82 |XEA4TH 1,211) 1,195 2,406
AFHE 378 361 739 |XEE5TH 577 583 1,160
AFTEHH 315 305 620 |XE6TH 289 272 561
AFREIH 88 78 166
EA1TH 399 388 787
=A2TH 625 645 1,270
ZE1TH 391 416 807
ZE2TH 377 385 762
ZR3TH 696 733 1,429
KEZHE 0 0 0
A = x &t
A A
49,623 50,958 100,581




HTAEZEANBBERER—ER

o TH30F9A3BKE
aHX
SWV-EMEHREFEEEZER
BT % BEAZEFEREEHR BT % BEAZEEREY BT % BEAZEFEREEHR BT % BEAZEEZREY
8 £ &t B ES &t 2 £ &t B ES &t
AFEH 1,946] 1916 3,862 |FHET1TH 377 388 765 |IRHET 425 409 834 | KFHEH 126 125 251
AFAH 0 0 0 |FEET2TH 641 670 1,311 | KFERIR 122 676 1,398 | KF 592 629 1,221
AHI1TH 425 452 877 |FART3T B 457 451 908 | KFER 696 676 1372 | KFEHA 485 47 956
AXH2TH 424 433 857 |FERT4AT H 622 611 1,233 | RFHEAZR 419 383 802 | FE1TH 313 316 629
AH3TH 40 40 80 |FEET5 T H 612 603 1,215 | KFEAGRHH 221 193 414 | FEB2TH 266 274 540
A#1TH 589 577 1,166 |BFHT 434 418 852 | KFE FHH 519 523 1,042 iREA1TH 233 241 474
AA2TH 335 349 684 |H @ HHET 702 690 1,392 | KFH{E 129 114 243 [fREH2 T H 134 151 285
AN3TH 493 518 1,011 |SESEMT 601 599 1,200 | KEEIE 354 332 686 |3 TH 790| 1,094 1,884
AA4TH 375 386 761 |=EBI1TH 369 439 808 | KFE4~IGE A 17 20 37 |iREEATH 309 385 694
WET1TH 369 379 748 |=BI2TH 1,048 1,015 2063 | K=FEHE 248 236 484 |iREE5 T H 192 193 385
HET2 T B 324 298 622 | XFFEFEE 25 29 54 | KF§). - H 696 662 1358 |RAEH1TH 250 264 514
X1 TH 207 194 401 | EB1TH 277 303 580 | KFEHTE 127 114 241 [REH2TH 121 136 257
BFHR2TH 449 459 908 | EB2TH 287 322 609 | KFE SR 230 199 429 [REHSTH 233 231 464
FHR3TH 7 3 10 |FEEHITH 402 371 773 | XFXH 744 696 1440 |REH4ATH 518 511 1,029
FHR4ATH 172 173 345 | EBATH 305 279 584 | KE#mEX 528 465 993 [REHISTH 364 336 700
WE1TH 441 449 890 | EHSTH 104 86 190 | K=/ 1,354 1,315 2,669 |RAEMGTH 277 263 540
HE2TH 256 257 513 | AFR= 284 262 546 | KF{EH 883 861 1744 |ZEHE1THE 403 401 804
WESTH 213 227 440 | XFKREHE 148 127 275 | AFREEF 853 856 1,709 |EBEHR2TH 447 444 891
W4T B 457 373 830 | KFigf 180 236 416 | KRt 252 264 516 [EER3ITH 281 273 554
WEs5T B 620 590 1,210 | KFXO 166 175 341 | KF L8 312 291 603
WAR1TH 703 712 1415 | KFAS 130 132 262 | LEF1TH 441 461 902
tARK2TH 608 633 1241 | KFXF 262 234 496 | E8F2TH 201 170 371
AR 661 585 1,246 | KF#HAEE 108 100 208 | LEF3TH 85 62 147
FEEE1TH 409 382 791 | KFXFH 50 47 97 |.L¥4TH 8 9 17
fEE2TH 354 362 716 | KFME 52 55 107 | L85TH 0 0 0
AB1TH 324 306 630 [fIE1TH 579 567 1,146 | F¥F6TH 200 186 386
ABT2TH 422 425 847 [fE2TH 315 353 668 | KF 715 245 284 529
AH3TH 295 310 605 |HNA3TH 34 28 62 |&H4i51TH 10 5 15
AET4TH 413 465 878 [MIE4ATH 608 554 1,162 |#147152TH 18 13 31
AHS5TH 302 307 609 |NNASTH 511 470 981 | AFHFR 62 70 132
ABT6TH 315 358 673 [ KF1#EIR 221 217 438 | KFERERF 824 785 1,609
{HBT1TH 622 606 1228 | KFEEF 142 174 316 | KFEEE 558 443 1,001
fhET2TH 535 540 1,075 | KF4IE 373 341 714 | K54} 389 356 745
RE1TH 523 497 1,020 | KFEZS 552 557 1,109 | KF&E 512 518 1,030
RE2TH 363 357 720 | KFB/F 71 59 130 [ KRFATE 692 698 1,390
- 5 ES t
= A 47,348 46,963 94,311




